o EASE

o /\>AHZTTOEH

M =] _ o
e o UHIREMESMHIWEEL S SHH T
MEAFR
@ @
WASE
DAY — M2y ho0@ BEAOET
HEHBETE

a: MEFULEFEAN. TARZUTRELTLSZEW

b:{ER1>HY— kb [D2]
c: Figtitx  cl
d: FeesrEx  [dl

e: FRHA>B—-KEEL S XA1mmBlE

EAEDFER

A2 — hOABEFROIIRICDVWTIFEBLZRIENEZSNETIDOTHITARZUTHSRELTLES0,

e SEME
ABS RUBDRR—BF
s
~LZ (N-m) 513& (N) ~NLZ (N-m) 515& (N)
UD-23001 2.0 1569 2.0 1667
UD-24001 3.9 2884 3.9 3825
UD-25001 6.9 3727 7.8 5296
UD-26001 8.8 5394 11.8 6865

o <JiER



Stamp


unm (DJLbSH—HI)

aMEFUERAN, TARZLT
ARELTLZEW
b:{ER-1>Y— oD [D2]
e hExR  [cl

e d:~tixx& [d]
eFH1>Y—hEERL
TS Z1mmil E

RZHPAL4X M2.6x0.45 (M2.5%0.45)

& D1 D2 L (o d AR
uD-22601 3.30 4.0 6.0 3.7 0.4 5,000
uD-22602 3.58 4.0 3.5 3.7 0.4 8,000

< >
P44 X M3x0.5

& D1 D2 L C d FAAE
UD-23001 4.16 5.0 7.0 4.7 0.4 2,500
UD-23002 4.50 5.0 4.2 4.7 0.4 4,000

.

2L X M4x0.7

& D1 D2 L C d FAH
uUD-24001 5.38 6.5 9.0 6.2 0.4 1,000
UD-24002 5.83 6.5 5.6 6.2 0.4 1,500

YA X M5x0.8

& D1 D2 L C d FAAEL
UD-25001 6.67 8.0 11.0 7.6 0.6 600
uD-25002 7.20 8.0 6.6 7.6 0.6 1,000

.

&

D1

D2

FAAE




& D1 D2 L C d AR
uD-26001 7.89 9.5 13.0 9.0 0.7 400
UD-26002 8.54 9.5 8.0 9.0 0.7 500

RYALX M8x1.25

BE

D1

UD-28001

11.40

0.7




